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Another week on the X-ray Attack






or Skewer.  First a position







(players unknown) with White







(to play) facing multiple threats.







However a skewer turns the tables

  





(7 moves):






299

Now a game in which skewers play a decisive part:


             A. Rubezov  -  G. Borisenko

USSR Correspondence Championship 1960-63


            Sicilian Defence, Sozin Attack


1.e4 

c5 

2.Nf3 

Nc6


3.d4 

cxd 

4.Nxd4 
Nf6


5.Nc3 

d6 

6.Bc4 

e6


7.0-0 

Be7 

8.Be3 

0-0


9.Bb3 

Na5(a) 
10.f4 

b6


11.g4(b) 
Bb7 

12.Qf3 
Rc8


13.g5 

Rxc3!(c) 
14.gxf6 
Rxe3 


15.Qxe3 
Bxf6 

16.Rad1 
Nxb3


17.axb3 
a6 

18.e5!? 
dxe!


19.Nxe6!? 
Qc8 

20.Nxf8 
Qc6!(d)

21.Kf2?(e)  
Qg2+ 

22.Ke1 
Bh4+


23.Rf2 
Bf3! 

24.Rd8!(f)
 Qg1+


25.Kd2 
Qd1+(g) 
26.Kc3 
Qxd8


27.Rxf3(h) 
e4!(i) 

28.Rh3 
Bf6+ 


29.Kc4 
Qc7+! 

30.Kd5 
Qb7+


31.Kd6 
Kxf8 

32.Rxh7 
Be7+


33.Ke5 
f6+ 

34.Ke6(j) 
Qc6+


35.Kf5 
Qc8+ 

36.Kxe4 
Qxc2+(k)

37.Kd5 
Qxh7 

White resigns. 

a) A move considered suspect: 9…a6, 9…Qa5 & 9…Bd7 are more normal.

b) 11.f5? e5 12.Nde2 Nxb3 13.axb3 Bb7 14.Ng3 d5! puts Black on top. 11.e5! Ne8 12.f5 dxe 13.fxe6! is critical and has resulted in players avoiding 9…Na5.

c) A thematic Sicilian sacrifice: if 14.bxc3? Nxe4 leads to an excellent game for Black.

d) By forceful play Black is able to ignore the knight on f8 for more than 10 moves.

e) 21.Qg3? would lose to 21…Bh4! but 21.Rd2 is better than the text with a possible continuation 21…Bh4 22.Rf3 (forced) Qxf3 23.Qxf3 Bxf3 24.Nd7 exf 25.Nxb6 Be4 & 26…f3 with good chances despite the material deficit.
f) A strong move forcing Black to play most precisely.

g) The first skewer.

h) 27.Qxf3?? Qd4#.

i) Opening up the a1-h8 diagonal for the bishop.

j) 34.Kd4? is met by the skewer 34…Bc5+.

k) The skewer decides the game as 38.Qd3 is met by 38…f5+! 39.Kd4 Bc5+.
Did you know that statistically Correspondence Chess could be considered the world’s most dangerous sport as a greater percentage of competitors die while taking part in an event than in any other sport?  Mind you, this could be attributable to the age factor and the length of the games, up to three years or more.

SOLUTION: 1.Rxh7+! Kxh7 2.Qe7+ Kg6 3.Rg8+ Kf5 4.Rxg5+! Kxg5 (4…fxg5 5.Qd7+ / 6.Qxh3) 5.Qg7+ Kh5 (5…Kf5 6.Qd7+ / 7.Qxh3) 6.Qh7+ / 7.Qxh3.

